[ > y: =X->X"2;
Yi=X—X

> y(2);

> fi=(X,y)->X"3-3*x*y"2;
fi= (x, y) =X —3x)

> s:=x->if x<1 then -1 elif x=1 then 0 else 1 fi;
s:=x—if x <1 then -1 elif x=1 then O else 1 end if

> s:=x->pi ecew se(x<1,-1,x=1,0,x>1,1);
s:=X—piecewise(x <1, -1,x=1,0,1 <x, 1)

> vzorec: =(b"2*x"2*si n(b*x) - 2*si n( b*x) +2*b*x*cos(b*x) *a*t)/ b"3:
> F: =unappl y(vzorec, x, t);
bzﬁsnubx)—25hﬂbx)+2bxcoﬂbx)at

Fi=(xt)— =

> map(x->x"2, a+b+c);
a+ b+
> eqgn: =(x-1)*(x"2+x+1);
eqn:=(x—1) (¥ +x+1)

> sol : =sol ve(eqn, x);
1 1 1 1
I'=1,--+-I¥y3,-- —-1J3
SO > + > v > T vV

> eval (egn, x=sol[1]);expand(eval (egn, x=sol[2]));
0

0
> sol ve({x+2*y=3, y+1/x=1}, {x,y});
(x=-Ly=2}, {x=2.y=3}

> sol ve(x"3+4*x"2+2*x- 1>0, {x});
{‘i_l\/:w <x,><<-1H—§+l\/13 <x}
2 2 2 2
> 11 =XNT- 25 X6~ 4% XN 5- XN 3+XN2+6% X+4;
ri=x —2xX—4xX - +x*+6x+4

> fsolve(r);
-1.236067977, 1.167303978, 3.236067977

> fsolve(r, x,conplex):
> fsolve(r,x,0..2);
1.167303978

> fsol ve(sin(x), x=3);

3.141592654



7 (%i3) f(x,y) :=x"3-3*x*y"2;
(%03) f(x,y):=x3-3xy?2

7 (%15) s(x):=(if x<1 then -1 elseif x=1 then 0 else 1);
(%05) s(x):=if x<1 then -1 elseif x=1 then 0 else 1

E'(%126) vzorec: (b"2*x"2*sin(b*x)-2*sin(b*x)+2*b*x*cos (b*x)*a*t)/b"3%

%18) define(F(x,t), vzorec);

b2 x2sin(b x)-2sin(bx)+2ab t x cos(b x)

(%08) F(x,1t):=

b3

' (%19) map(lambda([x], x"2), a+b+c);
(%09) c?+b?+a?

7 (%110) eqn: (x-1)*(x"2+x+1);
(%ol@)(x-])(x2+x+1)

(%i11) sol:solve(eqn,x);

N3 %i+l N3 %i-1
(%011) [X=-T,X=—,X=1]

N

? (%112) ev(expand(egn), sol[1l]);ev(expand(egn), sol[2]);
(%012) O
(%013) O

7 (%114) s:solve([x+2*y=3, y+1/x=11, [x,y]);
1
(%014) [[x=-1,y=2], [X=2.y=5]]

7 (%129) load(solve rat ineq)$

7 (%116) solve rat _ineq(x"3+4*x"2+2*x-1>0);

O errors, 0 warnings

13"+ 3 13 -3

%016 - , -17],
(%016) [[x> > x<-11, [x> >

1]




4 (%117) r:x"7-2*X"6-4*X"5-X"3+Xx"2+6*x+4;

(%017) x7 -2x6 -4x5 -x3+x2+6x+4

7 (%120) realroots(r);
(%020) [x=-1.236067980527878 , x=1.167303949594498 , x=

3.236067980527878 ]

7

(%127) allroots(r)$

_7 (%i22) find root(r,x,0,2);
(%022) 1.167303978261419

(%128) load(mnewton)$

_7 (%i24) mnewton(sin(x),x,3);
(%024) [ [x=3.141592653589793] ]
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